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STATEMENT AND ASSUMPTION
1. 5; Clearly both the assumptions are implicit in

the statement.

2. 5; Clearly both the assumptions are implicit in
the statement.

3. 4; None of the assumptions is implicit in the
statement.

4. 1; Obviously, only assumption I is implicit in
the statement.

5. 1; Obviously, only assumption I is implicit in
the statement.

6. 2 7. 5 8. 5 9. 2      10. 2
11. 5; Both the assumptions are implicit in the

statement. It is mentioned in the statement
that wireless communication systems are to
be set up along the coastline in view of the
cyclonic storm hitting the coast. Therefore, it
can be safely assumed that telephone
communication may be paralyzed due to the
cyclonic storm For similar reason assumption
II is also implicit in the statement.

12. 1; Only assumption I is implicit in the statement.
The Joint Parliamentary Committee has been
formed assuming that its members may carry
out investigation properly. Assumption II is not
implicit in the statement because in that case
there is no need to appoint a Joint
Parliamentary Committee.

13. 5; Both the assumptions are implicit in the
statement. If the reduced demand of car was a
temporary phenomenon then the management
has not taken the decision to reduce its
workforce. Again, it can be safely assumed that
the company is able to run its operation with
reduced workforce.

14. 1; Only assumption I is implicit in the statement.
Any Government notification is required to be
complied by those for which notice is issued.
There may be different fees for different
courses.

15. 5; The decision is beneficial for the public and
hence people will welcome the decision. It can
be assumed that the negative aspect of the
decision is reparable. Hence both the
assumptions are implicit in the statement.

16. 2; Only assumption II is implicit in the statement.
Because of the large number of potholes in a
particular road it is difficult to reach airport in
time. It implies that there is no other
convenient road to the airport.

17. 4; None of the assumptions i implicit in the
statement.

18. 5; Both the assumptions are implicit in the
statement. If courts cannot intervene in
matters of dispute between employer and
employees, then what is the significance of
statement.

19. 4; None of the assumptions is implicit in the
statement.

20. 5; Both the assumptions are implicit in the

statement.
21. 2 22. 1 23. 5
24. 5 25. 2
26. 5; Note that if a notice or a circular is issued for an

individual or a group of employees it is assumed
that an individual or the group of employees will
abide by it. Hence, I is implicit.
II is the main objective behind the move. Hence
II is also implicit.

27. 1; If a government decides to appoint employees,
the former assumes that it may be able to ac-
commodate the latter. Hence, I is implicit.
Also, if a government decides to appoint employ-
ees, then the government assumes that there
may be sufficient number of employees to ap-
point. But II goes against the above assumption.
Hence, II is not implicit.

28. 2; I is not implicit. Because the objective of the
move is to bridge the gap between income and
expenditure to a large extent.
Again, how can the objective of the authority be
achieved without II. Hence, II is implicit.

29. 2; Both I and II can’t be co-related with the state-
ment. Hence, neither I nor II is implicit.

30. 5; Why did the government go for the appeal? It
must be assuming that the appeal may be able
to change people’s mindset. Also, the govern-
ment must be assuming that the appeal may
generate more revenue. Hence, both I and II
are implicit.

31. 2; 'II' is a valid assumption because this type of
presumption may easily led a shopkeeper to
announce a big discount.

32. 4; The captain selected only fourteen player even
when he knew that they have to play 8 matches
it mean the captain was assuming that this no.
of players is adequate so 'I' is implicit. II is also
implicit because this is quite natured that a
person has been made captain because he sup-
posed to play in all the matches.

33. 5; After rescheduling the departure time, railway
authority has adopted it on the website simply
assume that passengers may approach its
website and get the information.
Similarly what the passenger will do after get-
ting right information, from the website answer
is 'II' so both are implicit.

34. 2; If majority of students still fail then there is
measure of giving grace marks i.e. this can't be
implicit. Since majority of students showed the
poor performance so that target was the major-
ity i.e. majority of students may how pass may
be implicit.

35. 5; Whenever a deadline far same work is set it is
assured that work will be completed as per the
dead line is schedule, so 'I' is implicit.
Whenever somebody requests some other per-
son he always assumes that he will be listened
to so II is implicit.

36. 5; Both are implicit in Mr. X's instructions to
his assistant.
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37. 2; II is implicit as it serves the purpose of introducing AC buses. Contrary to this, I is not implicit
as it defeats the purpose.

38. 1; I is implicit because whenever a scheme is announced, it is assumed that people will welcome it.
II is not implicit. Had fear been there on the mind of the govt, it would have refrained from
introducing such a scheme.

39. 4; I is not implicit because an announcement is made with the assumption that it will be positively
received. II is not implicit because the municipal authority is not covered by the ambit of the
statement.

40. 4; If the response does not come, as Assumption I says, the ad won't make sense. Hence I is not
implicit. II is not implicit; hence the qualification "with good communication skills".

41. 1; Assumption I is implicit because it is this that makes us import sugar in spite of the increase in the
number of sugar factories. But II is not implicit because “future” is beyond the scope of the statement.

42. 2; Compensation is a way of sympathising with the victims, not deterrent to terrorism. Hence II si
implicit but I is not.

43. 1; Assumptions I is implicit because only then the switching over makes sense. But II need not be an
assumption . The switching over may have been prompted by economic factors or those of convenience

44. 2; Assumption I is ruled out because of the word only. But II is implicit because without considering this
factor relocation won’t make sense.

45. 1; Assumption I is implicit as the govt’s moves are generally aimed at protecting the interests of the
masses. But II is not implicit because of “any other way”. There might be other means of gambling
which the govt does not consider significantly detrimental for the people.

46. 2; Only I and II are implicit because in the relief camp the facilities of food, water and shelter are
available.

47. 1; All are implicit because on the basis of all the three assumptions this advertisement is given.
48. 3; Only II and III are implicit. According to II who have secured less than 65% marks may not perform well

on job and according to III those  who have secured 65% or more marks are likely to perform well.
Hence due to these in advertisement the people with at least 65% marks are eligible to apply for the
post.

49. 4; Only I and II are implicit because if the government does not hike the prices of petrol and diesel, the
oil company will not be able to fulfil to deficit in purchase and sale prices and for protecting agitation,
the hike of prices is less.

50. 3; Only II is implicit because the people may shopping leisurely during the late evening hours, thinking
so, the Government has decided to allow the shopping complexes to remain open till midnight.
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